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dter HT TG Total main Answer Script of the candidate.

Instructions to Candidates has been provided at Page-2 of this Question-cum-Answer Booklet.
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BEFORE ATTEMPTING THE QUESTIONS READ INSTRUCTIONS CAREFULLY.

INSTRUCTIONS TO CAN DIDATES
efices o Renret ;) qhanfirar & fore AT -

1. wﬁwﬁmx:mmemmwmmmqﬁswemmﬁm-mmm‘

Mm%(wﬁmmmmmwmm )1 epz TaR o
IR s—ﬁ‘@&namz HA I @en Ao |

The candidate is required to write his/ her Full Name, Roll Number and Registration Number
on the Question-cum-Ans

s wer Booklet according to the Admit Card issued by the Council ( If it is
wrongly written, the Question-cum-Answer Booklet may be rejected ). It is compulsory for the
examinee 1o get the Question-cum-Answer Booklet signed by the Invigilator in the space proyided.
et wifee grr iy

T VAN U % R WH-TE-3 YR W I QA AW, A A@ q
ﬁﬁmwfﬁé(ﬁwmwa}m-w-wmmﬂm)lmm
TE-HE-IW [ e e W e ¥ e sta w7 @ wer |

MWMMW%meaWWmmeW,WW

mﬁwmmb,cmd,ﬁmmmmmﬁwm«>m_)aﬁ5tbmﬁus
A TEI IR T WiEE W vk e fire 3@, s A9

A box is provided at the right side bottom against each question of MCQ for three versions. You
must write the correct choice ( a, b, c or d) in this box. For SAQ of 1 mark, answer to be written
in the specific given space against each question, not anywhere else.

Fgfaweda we St d= vt f ¥ vl v § A ad o ww aew foar gan ¥ o g &

W a9 (a, b, c T q) ford | wel® @Y ST W (1 37F) FTIW W ©@E W @ 2, vy
L

3. @R s T offwbn v et s < o cwe o 1 R R o, e Tl
©Ta1E por e faae 7 '

All questions of this Question-cum-Answer Booklet are trilingual. In case of any doubt or
confusion, English version will prevail.

'mm—m-mgﬁawtmﬂm?ﬁwmaﬁitlﬁﬂﬁm#mﬁq& avEr Wi B A
FUAT FATT A F

4. mcqzm{nmmmmmm'@mmmwmm.'

After completion of the examination this Question-cum-Answer Booklet must be tied
securely with main Answer-script.

vﬁmmzﬁwrmm-watmm-m—mqﬁhmﬁa‘hami,
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oS o Row Seaefr wor (s AT Sead @m Fm sefke Mo o4we AH El

L.

(g oef Iy ) : 1x14=14

Select the correct answer out of the options given against each question

and write in the box provided on right hand side bottom (Alternatives are
to be noted) :

TRAF W # ga I KU MU fawedt § @ g AW qeft oiw vew A o ford
(A=foas T W &M 3) :

@

@ BIET s FN pEre e 791 37, O A

(a) STRTeEDS oW (b) CFEEISEGE e

(o) cefaueEhs s (d oFerrrmmeEle owe |

The magnetic compound that can be converted to a permanent
magnet is

(a) Paramagnetic compound

(b) Ferromagnetic compound

(¢) Ferrimagnetic compound

(d)  Antiferromagnetic compound.

wqmﬁwdﬁmﬁ@ﬁmﬁwﬁaﬁahmmt%

(a) FFgE®E A (b) wE-gEwE AT

(©) ﬂrﬁﬁvﬁﬁmnﬁﬁm (d) vidache-gaea A [ ]
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#(1215042-(09]0-(N5)
e Snpay v a— ST AR

(@) Cl, (b) HI

© S0, d I

An aqueous solution of KBr is treated with which of the following to

liberate bromine gas ?
@ <l (b) HI

(€ SO, d 1,

mr%aﬁahﬁmﬁﬁnﬁﬁmm%ﬁmmaﬁwaﬁam

I I ?
@ Cl () HI
© SO, @ 1, ]

(i)

3A — 2B, ffeafite B-a7 Yeom e W (+%?l)mamaw,q-a§

fferm o= 27,
@ -3 © -2414)
@ +244 @ -3<4
| 398.2.3] |NS-CHEM|
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In the reaction 3A — 2B, the rate of production of Bis + i‘[:—l when

the rate of reaction of A is

_1d[A] 2d[A
() 2 dt B -3

SAaQBaﬁmﬁmeﬂ+-‘%—]$WﬁﬂﬁﬁAw

arfufsrar X &
_1d[A] 2d[A]
(@ 2 dt ® -3
@ +24l4 @ -394 ]

(iv)

Tfbet et Ssife arer sl (1 @Ee A T, O

(a) A FE (b) % wmiTe

(c) TACHS ®R d) FoHe wife)

‘The metal atom in the complex compound acts as a

(a) Lewis Base (b)  Lewis Acid
(c) Bronsted Base (d) Bronsted Acid.
(3923 [Ns-cHEm] sciencemastersinz
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Steet A F o] WA .o 3 wu # fopen @ €
(@) W &R (b) TEE I
(€ FFRE &R d) SRS Il D

T3t / OR / Jgal

SRR Gfba (s A1 S 2@
(@)  [Ni(H,0) ** - (b)  [Ni(CO),]
(©  [Zn(NH,), ** (d)  [Co(NH,)g "

The paramagnetic complex compound or ion is

(@)  [Ni(H0)g|** (b)  [Ni(CO),]

(©  [2n(NH,), " (d)  [Co(NH,),I**

FTGEHIT T AMNTH 3T 3T &

(@)  [Ni(H,0)J* (b)  [Ni(CO),]

(@) . [Zn(NH,),** @)  [Co(NH,), ]?* ]
sclencemaster.im___
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| (v) FIER oy maer Seiffere M @l Sy 1 Rfer e erevarzy 3@ 2

. (a) CH,CH, CH,CI (b) (CH,), CH CH,CI

B (© CHy=CH,CH=Cl (d) (CHyy=C~Cl
|

CH,

In presence of aqueous alkali which of the following will take part

easily in SN1 reaction ?

(@) CH,CH,CH,Cl (b)  (CH,), CH CH,CI

(©)  CHy;—CH,CH—Cl (d) (CHy3-C-Cl
|
CH,

g &R # I | Frt § | S e § Sy 1 Ffufwa F wm @ 2

(a) CH,CH,CH,Cl (b)  (CH,), CH CH,CI

(© CHy—CH,CH-Cl (d) (CHyy-C~-Cl L]
|
CH,

(vi) SfEE o H,SO, 1R #TeR I9¢1 M6 I

(a)  CEREFAGH SeTeRe (b)  CufbIEer SR

(c) caffbfer (d)  corfPm-2-s@

(39823 [wschem] sclencemaster.inm 2o
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By the distillation with conc. H,SO, aceton¢ makes the compound

(a) Diacetone alcohol (b)  Mesityl oxide

()  Mesitylene (d)  Propene-2-ol

T H,S0, & Y 3Ha FRT U oo it W e &

(a) SRUHEA JFeehiet (b) Hfgerse IS

(c) Afafefem (d)  SidA-2- 377 | ]

wedl / OR / AYAT
(a) KOH e a3z (b) Zn-Hg e HCI

& LR, d) H,¢ Pt wHT

The useful reagent for the Clemmensen reduction reaction is
(a) KOH with glycol - (b)  Zn-Hg and HCI

(c)  LiAlH, (d) H,and Pt catalyst

TR ST e & ford St aifrat

(a) TR % WE KOH  (b)

Zn-Hg @1 HC)
(0  LiAH, @ B, Py ]
(39823 [wscmEm] sclencemasteri, 4 »
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(vii) P ==

(a) @3 s e

() @3l IrRRTSs

Insulin is
(@) an amino acid

(c) acarbohydrate
gfe &

(a) U HAN T

() U FEmREse

o3t / OR / Agdar

o STERTEAT 2l STNIRE! SHes 7R 2

(b)  «zf cenfbs

d) @z Brfers

(b) aprotein

(d) alipid.
(b) TS WRH
() T fafre -

(@) 15 (b) 20
© 25 d 35
Hydrolysis of protein produces .............. number of amino acids.
(@ 15 b) 20
© 25 @ 35
[3825] (ms-cHEM sciencemasteriifi®

Y



sciencemaster.in 


€ 25 d 35 ]

(viii) @3 IR TOREE 9TF @ER AW 'N'W@Wmmm

e |
(@ 2N (b) 4N
(0 6N (d 8N

The number of unit cells in the cubic system is 'N', the total number

of tetrahedral voids in that cubic lattice is

(@ 2N (b) 4N

© 6N d 8N

fell SR T H TR T FEA N ¥, IH SR A § Goshea

@ 2N (b) 4N

© 6N | d 8N ]
sciencemaster.in
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(ix) 25°C Smoy Rew e R (mol. L)

(a) 5555 (b) 055

() 5555 d) 55

The molarity ( mol. L™) of pure water at 25°C is

(@@ 5-555 (b) 055

© 5555 @ 55

25°C W Y& I F HieR/el (mol. L) &

(@) 5555 (b) 055

() 5555 d) 55 [ ]
(x) ﬂﬁz@ﬁﬁmmmcﬁwammwm

(@) WENPTR (b) w1 Jfew ez

() i mrrR () e e

Variable valency is the main characteristic of

(a) alkali metals (b)  alkaline earth metals

(c) noble gases (d)  transition elements. .

sciencemaster.in
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oftadt @R ... 1 T T ¢
(@) & wTgE o e g
© T (d) FFHOT A E:l
(xi) X =s SfrmEe efiew AoRET SeT S 2
(@) AH>O0 b)) AH=TAS
(0 AH>TAS d) AH<TAS
In the equilibrium state adsorption process follows the condition
(@ AH>O ‘ () AH=TAS
(0 AH>TAS d AH<TAS
Wﬁ%ﬂmmmmmmm‘tﬁt?
(@ AH>O0 (b) AH=TAS
(©) AH >TAS d) AH<TAS ]
&<’ / OR / JgaT
[35823] [ns-crem| sclencemaster.in 1z of 2
& oy L3


sciencemaster.in 


#*(12)5042-(09)e-(NS)
T SHETNTRS streef wftperrarr stan g oy T

(a)

(b)

(©)

(d)

! TS symeta sifne % A
Wi s sprewm o gt waEn
ERRER VR PR

TR SRRTNEe s sifawe zr1 33 |

The rate of adsorption increases in the solution of adsorbent when

(@)

(b)

(c)

(d)

the quantity of the adsorbent in the solution increases

the area of the surface of the adsorbent in the solution
decreases

the temperature of the solution increases

the quantity of the adsorbent in the solution decreases.

Ffueies & faergT &1 fuvivor X sgar € s«

K

(a) forera A srfemies <t AT So @
(b) faema Wmmmm?
(¢ faoraa &1 e agar ¢
(d) faorm i sfiwiew # wEn ged ¥ (]
sciencemaster.in
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(xii) PR e A
(@)  fegm smfprnzen (b) e ETREE

(€  miioige smiRenRen (d)  ZeEe EERED|

The chemical name of Aspirin is

(a) Phenyl salicylate (b)  Methyl salicylate
(€)  Acetyl salicylate (d) Ethyl salicylate.
T & TRt A E

@ e dfcmmee (b) Tourser Jfcramre

(0 wieww dewace () 3umer A .

(xiii) mmfw&wsmﬁmmﬁﬁmmmm@eﬁm.@é

(a) czfufefem Gnfim (b)  F/RETIG
(c) DR e ) ouffRm cmfin,
cres (e sciencemaster.in
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Formaldehyde reacts with ammonia to form
(a)  hexamethylene tetramine

(b)  bakelite

(c) triethylene tetramine

(d)  tetramethylene hexamine.

wrifceeRs smitfran & w sifufrar #@ weqd & &

(@) ewfgeH 2gra (b) @i

(€ gl sz @ 2gmfach de ]
(xiv) mmmﬁnm CTF A1
i (@) PR e (b) =P
(c) Frfox (d  azfmE

Optically inactive compound is

% (a) Aspartic acid (b) Lysine
Ibi (c) Cystine (d) Glycine
‘yereita w9 @ stEa A &
(a) TEATEH A (b) wERET
(¢ fafees (d) Terfe) :
[39823] [ws-CHEM| 15 of 20
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Arfrrs errafrm Baa wa ( R ermafd i ) 1x4=4
Answer the following questions ( Alternatives
WM*WW(WMWW?):
() o e K, [Fe(CN)o|-aa ol ol e 7S ?

What is the valency of the central atom

K,[Fe(CN)g| ?

w&ammlpc(cN)G]mﬁamaﬁﬁmmw% ?

T:/Ans./3:

are to be noted ) :

of the complex sait,

w9ql / OR / gl

(W TR LTS ETdl | aft B @@ 79 ?
Give the formula of Mohr salt. What type of salt is it ?

ﬁnaavrmqa%iﬁamuzmmwaam%?

©:/Ans./[3:

sciencemaster.in
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(i) 7 & Sreme wa
What is sol ? Give one example.
I H R 2 0 I3
€:/Ans./3:
| : w3t / OR / gan
| AETHAT AR @ (516 WP @I #1167 @t |
Give one point of difference between chemisorption & physisorption.
A INeT quT o e F @ o e w fag ¥
©:/Ans./3:
sciencemaster.in
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ii 4 8 ?
(i) 1 mol RwIT wNuTTH ki | electron ?

How many coulomb is the charge of 1 M¢

| mol TR 1 amaw farar e & 7
$:/Ans. /T

wedt / OR / Hgal

AL e s ofgren sfaw ¥ 39T ?

How many coulomb of electricity is carried by AI** ion ?

AI®* TEA g Attt e T AR A FAH € 2
©:/Ans./3:
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(iv) St MC’TNH

State law of Mass action.

sciencemaster.in

T9al / OR / 3gar

T B3 7=t & @ o
What is active mass ?
T FeEEE TR 2

®:/Ans./3:
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